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‘Choice boased.

(Time: 3 Hours)

N.B. 1) Question No. | is compulsory.
2) Attempt any Three questions out of femaining. = e gl
3) Assume suitable data wherever necessary and state “t_he\mi_(clgér_\l)a. Dy S

Explain memory banking in 8086 SRy o S ey
Explain VM, RF, IOPL, NT and TF flags of 80386 microprocessor
Write addressing modes of the following instructions =~ © -
) MOV AX, [BX+S]]
ii) AND CL,[2000]
iii)  IN AL, DX
iv)  JMP [BX+2]
v) ADD AX,[BX+SI+5
~ d) Explain BSR mode of 8255.PPF =

| &) Design 8086 based system for the followir
D 8086 working in minimum mode with 8MHz

f)  64KBEROM using 32KB *Bdevices -

i) 128 KBRAM using 64 KB * 8 devices

10

Draw the block diagram of PIC8259.a d discuss its operation 10

Draw and explgin the bleek diagram0fP1T8253

Draw and explain demultiplexing of address bus in 8086 y

roble

architecture - .
 Draw and explain max

Explalﬂhbw\ﬂughmgéf ﬁlpe}me T _:;S mlnlrmzed in Pentium 10

(e, A

imum mode configuration of 8086 system 10

TN

WﬂfcaSOSGassemblylanglmgep ram with appropriate comments, to find 10
- ifthe given yearisa loap yearornot

‘ 0de2 operation of 8255 PPI with control 10

- word and timing diagram.

| Differeatiate real mode; protec
- Write {;sﬁgﬁ-:noté}'dﬁ;ff’;ﬁwglaﬁ'guage programming

plain the following instructions in 8086 : LAHF and XLAT
plain data transfer modes of DMAC 8257

ted mode and virtual mode of 80386 5
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.

: [Time: 3 Hrs ] ; T [MarksSO o
| SR S e
| Please check whether you have got the nght qUestlon paper ARt R
N.B: 1. Q.1 is compulsory. ~ ; Fock S A
‘2. Solve any three from reaming ques‘hons
| 3. Draw neat diagrams wherever necessary
- Q.1 a) Explain types of users of the database sygtem w1th su‘ltable example & (10)
responsibilities of DBA. RS N TS e WS
b) Explain extended ER features. (10)
Q.2 a) Explain types of join with suftable example __ i et (10)
b) Explain constraints in SQL (10)
a) Explain relational algebra bperators bl B - (10)
b) What is Log.? Explam Log based recovery SEhr (10)
a) What is 2PL. Explam 2PL (2- phase) Lockmg protocol w1th its types. (10)
b) What is tr1gger‘7 Wnte syntax and“example g (10)
a) Explam v1ew senahzabihty w1th.sultable examples (10)

b) What is Normahzatlorﬂ Explam-lNF 2NF and 3NF with suitable is example. (10)

wme note on (Any two) s (20)
a) Txmestamp Based Protocol T
_ b) TranSactlon state dlagram .
¢ F unctlonal dependency in dbms
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i (3 Hours)

| [Total Marks: 80 .

Note: (1) Question 1 is compulsorys
(2) Solve any three questions out of remaining
(3) Assume suitable data wherever necessary

Q.1. (a) Explain the need of layering for communication and: networkmg' _
(b) Describe in brief the concept of piggybacking. -~ .= o ©
(c) What is subnetting? What are the default subnet. masks‘?""'f" £ F
(d) Differentiate between TCP and UDP "« S

Q.2. (a) Explain CSMA protocols. Explam how colhsions are handied in CSMA/CD ‘ \(10 M)

(b) What is traffic shaping? Explain Ieakyb cket“algonthm and compare 1t w:th token
Bucket algorithm. o gt togy 1;4_ (IOM)

Q.3. (a) Illustrate TCP three way handshaketechn ques in CPconnecnonestabhshmant
S YA R TS (10M)

(10M)

routmg in detaﬂ'

(b) Why does data hnk protoqei alwaysmp u >the CRC ina trauler rather than in a header?
Given the data wbrd “1101011011” and tthlWSDT “100117, show the generation of
cyclxc redundancy check (CRC) codcword at the sender site. (10M)

Q 5. (a) erte shon note on FTI (10M)
(b) Ds,scuss dlfférent typés guided miedia in detail (10M)
Q 6 (a) What lsua topalogy? Expl I 'the types of topology. (10M)
(b) Explam the Go-baek—N protocol (10M)
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N.B.

: Wnte short note on followmg:(any 2)

(\w()\cel

(3 Hours) [Total Marks: 80] e

(1)Question No. 1 is compulsory
(2) Attempt any three out of remaining five questions
(3) Assumptions made should be clearly stated

(a) Explain post correspondance problem.
(b) Differentiate between FA and PDA. : A
(c) Define Regular Expression and obtain a regular expresslorr such that S

LR)={w|wE{0,1} }w1thatthemostthree7<eros

(d) What is ambiguous grammar? Check whether follong grammar is amb:guous Ql’ ot 5. =

E—E+E|E*E|(E)]id

(a)Design a Finite State Machine to accept follovymg languago over the alphabct {0 1} S8 10
L (R)={ w|w starts with 0 and has odd Ie r siarts‘ wnth T and has-even iength } :"

(b) Give and explain formal definition ofPumpm‘g Lomma for Regular Langu‘age 311!:1 10
prove that followmg language is not regul : Ve et

L={ o' | 11is prime number }
(a) Construct PDA accepting the Ianguage L“{az“b ,I‘IIZO} e s 2 10
(b) Consider the following grammar - s Sl ges 10
S-—HCtSIlCtSeS[a G
C—b '
For the strmg 1btaejbta ﬁnd the followmg

(1) Leﬂmost derlvahon 3
(11) nghtmost derwatton

(m) Parse tree. & G
(w} Checkqf above gramman bi

(a) Construct PDA to check {,W(:wn W {a,b}"‘ here wt1s reverse of w & ¢ is a constant. 10

{6) Convert fo!lowmg CFG to CNF ~E 10
' ¥ 8> BAOllBl}BB gl
“ASC ; ;
B->S{A
,>Sde

(a) Convert (t’H—l) (10) (O-l—l) mto NFA with e-moves and obtain DFA. 10

() Construct Moore and. Mealy.Machme to convert each occurrence of 101 by 111, 10

20

(a,) Chomsky Hlerarohy
® Halting Problem .-

~ {¢) Rice’s Theorem -
(e) Umversal Tunng Machme
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Duration: 3 Hrs.

NB: (1) Question no.1 is compulsory.

(2) Attempt any three out of remaining five questions.

(3) Assume data if required.

: :iiol
[10]

[10]
(10]
[10]

(10]

[20]
[10]

[10]
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(3 Hours)

NB. (1) Question No. 1 is compulsory
(2) Attempt any three out of the remaining five questions
(3) Assumptions made should be clearly stated

1. (a) Differentiate between P, NP, NP Complete and NP-Harcbclasses of Comwsxﬂy 3
(b) Define Red-Black tree. v Sy
(c) Write short note on bipartite matching. o
(d) Explain recurrences with example.
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